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LI you to be at the party this
evening.
(@) look forward to
(b) hope
(c) oxpest
@) think

2. When I met John yesterday, it was
the first time him since
Christmas.

(@) saw
{b) have seen

6. 1 always felt hungry 1 heard
the dinner bell.
(a) as much as
(b) as well as
() as soon as
(d) as close as

7. Although they took every precaution,
they could not the accident
(8) defer
(b) allow
{c) avoid
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82. Which one of the following statements is

NOT correet ?

(a) In the conduction mode of trans-
ference of heat, the molecules of
solid pass heat from one molecule to
anather without moving from their
positions

{b) The amount of heat required 10 mise

Which one of he following statements
is correct 7

(a) Phase of the oscillating panticle
s same st = DS and > 35

(b) Phase of the oscillating particle
jssameat1=2sand = 8s

(c) Phase of the oscillating particle
issame at f=3sand (=75
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(e}

tdy

the temperature of a substance ¥
called its specific heat capacity

‘The process of beat transfer in liquids
and gases is through convection mode

‘The process of heat transfer from
body at higher temperatuse 0 a body
st lower temperatire without heating
he space between them is known as
adiation

83. The amount of heat required 10 change a

85,

(d) Phase of the oscillating particle
fs same at i =45 and 1= 105

Mateh List T with List 11 and selcet the
correct answer using th code given below
the Lists :

Listl
(Disease)

Listll
(Remedly)

A Hypermetropia L. Ceneave lens

-

. Presbyopia Bifiscal lens

. Myopia 3 Surgery
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liquid to gascous sute without any change

i temperature is known as D. Cataract O Tk
(a) spevific heat capacity Code |
A B C D
{b) mechanical equivalent of heat R
{e} latent heat of vaporization W
(@) quenching AL AL
@ 3 2 1 4

B4, The following figure shows displacement

versus time curve for a particle executing 6. A eircular coil of single wm has a
et i BT S e TR O
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(c) had seen
(@) have been sceing

3. He 1o listen to my arguments

and walked away.
(a) denicd

(b) disliked

(c) prevented
(d) refuscd

4. The flow of blood was so
the patient died.
(2) intense

that

id) block
8. The ambitious nobleman o
marry the king’s daughter
(2) transpired
@) perspired
(c) aspircd
(&) expired

9. The dictator of that country was a
monster of wickedness, insatiable in his
for blood and plunder.
(@) idea
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87. In a solenoid, the current flowing through

the wire is / and mumber of wims per unit
length is n. This gives a magnetic field B

oid. If number of twrm per
unit length is inereased to 2, what will be
the value of magnetic fick in the solenoid ?

(@ B

90. Wihich one of the following elements fonms

highest mumber of eompounds ?

() Oxygen

(B Hydrogen
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91. Which one of the following clements
88, Which onc of the following statements is corrodes rapidly T
correct about the magnification of an
cal mieroseape 7
TG (2) Aluminium
(a) Magnification increases with the
s mce in focal lenath of evepisoe Ao
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89. A homogencous

Magnification increases with the
increase in focal length of objective

Magnification does not depend upon
the focal length of eyepiece

Magnification decreases with the
increase in focal length of eyepicee

xture contains two

. 20 g of common salt is

© Zinc

@ Silver

ssolved in 180 &
of water. What is the mass percentage
of the salt in the solution ?
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93. The valency of an element depends
upon the

{a) total number of protons in an atom
{b) mass number of an atom
(¢} total number of neutrons in an atom

{dY total number of electrons in the cuter

95, Colour wision in human eyes is the
function of photoreceptor cells named

()
®)
©

2

Rods
Cones

Blind spot
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TRTW I SN

mosl shell of an atom

96. Which one of the following statements

94. Match List | with List Il and select the is NOT comect 7

comect answer using the code given below

il (a) All proteins are enzymes
List1 List 11
it 3
(Noble gas) (Use) () Mostly enzymes are proteins
A, Argon 1. In lights for () Al fats are energy rich compounds
i i (@) Glucose is a common carbohydrate

B. Neon
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4. Intungsten (c) Fructose
filament to last
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99. Match List 1 with List II and select the
vorrect answer Using the code given below

the Lists :
List]
(Mineral)
A. Manganese
B. Gypsum.
C. Limestone

List 11
(Leading State)

1. Uttarakhind
2 Kamataka
3. Rajasthan

Select the comrect answer using the code
given below :

(a) 1and2only
) 1,2and3
(c) 3and4only

M 2.%and 4
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D Magnesite 4. Odisha

Code : 102. Match List 1 with List 11 and selcct the
A B G A comrect answer using the code given below
the Lists :
@ L 3 2 4.
B 1 2 3 4 List! Listll
oAy & w1 (Tipe of climate) (State)
@ g fme G A, Monsoon with L Uttar Pradesh
Short Dry and Bihar
100. Which one ameng the following is the Season (Amw)

correct order of tiger reserves situated 2. Tamil Nadu
IANT N FEG R (. TERN. Ty Ve e b e e al e »
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IO NOHR WY Senm 117 inma 1.

(@) Corbeit — Simlipal — Sariska —
Periyar

(b) Periyar — Sariska — Simlipal —
Corbett

(c) Corbett — Sariska - Simlipal
Periyar

(d) Feriyar - Simlipal — Sariska —
Corbett

101, Which of the following are correct with
tegard to Indian Monsoonal Rainfall 7

Winter with
Short Summer
(Dfc)

. Monsoon with
Dry Wintor
(Cwg)

D. Monsoon with
Dry Summer
(As)

Code :

Loast

3. Anmachal
Pradesh

4 Kerala and
Kamataka
Const




image134.png
L. Largely govemed by the topogra-
phical features

2. Regional and seasonal variation in the
distribution of rainfall

3. Heavy downpour resulting in
considerable runoff

4 Beginning and end of rain is regular
and on fime

27

(a)
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(CH
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ANTONYMS
Directions for the following 5 (five) items :

In this section, each item consists of a scntence with 1 word underlined and is followed by
four words. Select the word that is most upposite in meaning to the underlincd word and
indicate your responsc in the Answer Sheet accordingly.

11, My first lecture in the classroom was a () imitable
[iasco. (d) lovable
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103. Which one of the following Himalayan

rivers does NOT originate from across the
Himalayas ?

() Indus
) Sailuj

{e) Ganga

107. The time period of a simple pendulum

made using a thin copper wire of length L
i 7% Suppose the temperature of the room
in which this simple pendulu is placed
increases by 30°C, what will be the effect
an the time period of the pendulum ?

(a) Twill increase slightly




image142.png
by Fhiabis () Twill remiain the same

104, The Headquarters of Eastem Railway

Zone of Indian Railway is located at (€) Twill decrease slightly

(a) Bhubancswir (@) Twill become more thar 2 fimes

(b) Kolkata

108. Which one of the following physical
quantity has the sam unit as that of

() Guwahats pressure 7

(e} Hajipur

dod rdhaia i b o b S (4)  Anjular momertum
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T AP
is the largest trading partner of India in
external trade for the year 2015-2016 7

(a) United States of America
(b) United Kingdom

() United Arab Emirates
(@ China

106. The radii of curvawre of the faces of
a double convex lens are 10cm and

(b) Stress
(<) Strin

() Work

109. Which one of the following statements
is correct with regard o the matcrial
of electrical insulators ?
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They contain no electrons
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(®) oy 14, The bicth of his child decidedly proved
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(d) disaster {a) precious

12, 1t was indeed arduous 1o cross streets in i
New York, (6] useless
(a) pleasant {d) wnforgetiable
); ititoss 15, ‘e witness cormoborated woed for Word

(e} interesting e statement of he victim:

(d) risky (a) accepted
13, Unlike his brother, be 15 affable. (b} confirmed
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110 Which ane of the following physical
quantities does NOT affect the resistunce
of a cylindrical resistor ?

(a) The current through it
®) 1is length

(c) The resistivity of the material used in
the resistor

The area of cross-section of the

Code :

(a)
(b
(e
{d)
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cylinder
3. Which one of the following was NOT

111, Which one of the following stalements a cause of the Revolt of 1857 7

regarding King Knshnadevasaya is NOT
commeer 7

(#) He was a great scholar of Telugu
and Sanskrit

{b) Foreign travellers Paes and Nuniz
visited his court

(¢) Barbosa praised him for the great

justice and equity prevailing in
his empire

(@) The rumour that the Brlish had
‘mixed the bone dust of cows and pigs
tnio the flour being sold in the market

(b} The prophecy that British rule would
come 10 an end on the centemary of
the Bartle of Plassey on 23rd June,
1857

(c) Popular discontent with British rile
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112, Match List I with List 11 and select the oiga and e retim 6T Ram Rajy.

cct answer using the code given bel
e L i BB 114, Which one of the following was NOT

a feature of the Subsidiary Alliance of
List [ List T Lord Wellesley ?

(Amendment to the  (Subject) (a) The British were responsible for
Constitution of Indta) ‘Protecting the ally from any extemal
A. 52nd Amendment 1. Reduction of threats

Act, 1985 voting age

3 TN TR W A .
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Act, 1992

C. 61st Amendment
Act, 1988

D. 86th Amendment
Aet, 2006

O£ W LE

2. Rightto
Education

3. Panchayat
Raj

4 Disqualifica-
tion on
gounds of
defection

3

(@

handled by the ally slone, with no
help from the British

The ally was to provide resources
for ‘maintaining 4 British amed
contingent stationed in its territory

The ally could not enter into any
agreement with other rulers without
the permission of the British
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SYNONYMS

Directions for the following 5 (five) items :

16.

In this section, each item consists of a sentence with a word underlined and is followed by
four words or groups of words. Select the word or group of words that is most similar in
meaning to the underlined word and indicate your response in the Answer Sheet accordingly.

It is unwise to sever diplomatic relations (© reduced
with a neighbouring country over small
matters, @) bypassed

i ooy
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115. Match List [ with List [ and select the
comrect answer using the code given below
the Lists

List] List 11
(Place) (Minera)
A. Lakwa 1. Copper

B At sk o Fa

117. Which of the following regions is/are
NOT known for cotton-textile industry ?

1. Munibai — Pune region
2. Madurai — Coimbatore region
3. Dhanbad ~ Jamshedpur region

4. Indore — Ujjain region
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D. Zawar
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A
@ 3
®) 2
@ 2

C

3. Zinc

4. Coal

118,

Select the correct answer using the code
givenbelow :

(@) land3
(b) 2and3
(¢) 1, 2and4
@ 3only

Which one of the following States does
NOT have the Headquarers of any

Bachiacits Pz
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116. Which of the following are the major coral

teef arcas of India ?
1. Gulf of Kachehh
2. Gulf of Mannar
3. Lakshadweep
4. Andaman and Nicobar Islands

ne,

(@) Tharkhand

() Chhatiisgarh

(&) Odisha

@ Bihar

Suppose a rod is given a negative charge
by rubbing it with wool. Which onc of

the following statements is correct in
this case ?
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Select the correct answer using the code
aiven below :

(a) 1and3only
(b) 2 and 4 only
(c) 1.2and 3 only

@ 1,2,3and4

33

@

®

(]

(@

The positive charges are transferred
from rod to wool

‘The positive charges are (ransferred
from woal to rod

The negative charges are transferred
from rod to wool

The negative charges are fransferred
from wool to rod
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(b) estrange 18. The police fired indiscriminately at the
(c) cut off crowd, killing many innocent women
(@ twist and children.

wist

- (a) continuously
17. Bad tendencies are 1o be countered
by good omes until oll that is ewl (b) without distinguishing

disappears.
(a) !':;pcsm (e) foolishly
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120. Which one of the following is the correct
relation between frequency faid angular
frequency o7

@ f=mo

123, Which onc of the following statements

is true for the relation £ = 22072

(All symbols have their usual meanings)

(a) The quantity G depends on the local
value of g, acceleration due to gravity
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LS el (b} The quantity G is greatest at the

surface of the Earth
@ [=2mw

(€} The quantity G is used only when

121, A Kelvin thermometer and a Fahrenhcit SRS e

thermometer both give the same reading
for a certain sample. What would be () The quantity G is a universal constant,
the comesponding reading in a Celsius

thermometer 7
ot 124. Why is it difficull 1o measure the

coefficient of expansion of a liquid than
pa i
(a) 574 solid?
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) 301
(e) 273

@) 232

If the potential difference applied to an
Xeray tube is doubled while keeping the
separation between the filament and the
targer as same, what will happen 1o the
cutoff wavelength ?

(@)

(b

(€]

(@

Liquids tend fo evaporate at all
lemperatures

Liquids conduct mare heat

Liquids cxpand oo much when
heated

Their containers also expand when
heated
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126. The chemical name of baking sada is

(a) Na,CO,
() NaHCO,
(c) CaCo,
@) NaOH

127 Which ane of the Fallawine slemente &

130. Which one of the following was a

significant feature of the Quit India

Movement ?

(@) Women did not play an important role
in the movement

(b) Nasik in Maharashta was an
important regional base during the
movement

A A e AR L Y L e
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() Zinc (d) It was marked by the emergence of
parallel govemments i different
(b) Lead parts of India
(e) Carbon (Graphite) 131, Wihich one of the following charcieristics
W T does NOT describe the Khilafat move-
ment 7
128, Who amang the following is onc of the {a) Mahatma Gandhi sought to link it to
authors of the book “Philosophy of the the Non-Cooperation movement
Bomb T (L) Ttwas not supported by the Congress

o g s ()t demanded that the Turkish Sultan
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(b) Jawaharlsl Nehn
(c) Surva Sen
(@ Yashpal
129, Which of the following statements about
the Chitiagony group is NOT correct 7

(a) Its membership included a large
mumber of youth in¢luding Ganesh
Ghosh, Lokenath Baul and Anant
Singh

HUSL TEam conirol. over iviusiim
sacred spoces in the crstwhile
Ottoman empire

(@) 1t was led by Mubammiad Ali and
Shankat Ali

132 Which one uf the following was NOT
u Feature of milways in colonial India ?
(a) The main purpose of the setting up of
raflways in India was to serve the
Iinterest of the empire
(b) British capital investments werc
invited with 15% guaranteed interest
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(b) Tts leader Surya Sen had heen s
lawyer in Dhaka before joining the

group

(c) Surya Senand his group were closely
associated with Congress work in
Chittagong

(d) vis growp had prepared an action
Plan 1o occupy the ammouries in
Chitragong

a7

(e)
1)

to be paid il necessary from Indian
revenues

The construction work  disturbed
eealogy

The construction of the milways
was planned in such a way that it
connected the internal rmarkets with

the ports, but provided no infer-
connection between mtemal market
cities
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19. Businessmen who lack acumen cannot 20. His candid opinions have won him many

be expected 10 be very successful. friends.
(a) faimess (a) kind
(b) sharpness (B) courteous
(e) boldness () gencous
(d) righicousness () frank

SENTENCE IMPROVEMENT
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133. Which colonial administraior made the

following declaration about the pari
of Bengal in 1904 7 “Bengal unifed is a
power, Bengal divided will pull in different
ways. That is perfectly truc and one of the
merits of the scheme”

(a) Lord Curzon
(b) M. H. Risley

137. Name the calligrapher in Akbar's court

wha was honoured with the title “Zarrin
Kalam™ or Golden Pen

(a) Abul Fazl

(b) Tansen

(€) Muhammad Husayn
(d) Muhammad Kasim
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Lord Minko
Sir Lancelot Hare

134, Who launched the Bardoli Satyagraha an
4ih Februany, 19287

(@)
(&)
(e}
(d

Mahatma Gandhi
Vallabhbhai Patel
Rajendra Prasad
Kalyanji Mehta

439, Wiuch one of e lollowmg sechions
of the CGolden Quadrilateral Highway
i bidia is the longest in terms of
route distance

() Delhi — Kolkata
() Kolkata - Chennai
(e) Chennai — Mumbai
(@) Mumbai — Defhi

139. Match List | with List I and select the
comect answer using the code given below
the Lists
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135. Which one of the follewing Princely Listl Last i

States did NOT support the Congress (Classification of (Example)

during the course of the Civil Dis- resourees)

oberience Movement 7 A. Basic 1. Hydel power
inexhastible

{8} e Tesource. 2. Coal

Tl 8. Conventional

(¢} Junagadh non-remcwable - Solarenergy
resource

{d) Kathiawar 4, Natural pus

. Non-conven-
tional renewable
resource

136, Which ane of the following is a feature
of thought and philisophy of fhe
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Kandukur Vircsalingam 7

(a) He believed that science and morality
‘were unconnected to truth

() He belicved in universal education

(c) He believed that language had 1o role
in inculcating morality in students

(d) He did not atlempt o build a national
consciousness on a cultural base

39

43, Nop-conventiomal
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Directions for the following 10 (ten) items :

In this section, look at the underlined part of each sentence. Below each sentence are given
three possible substitutions for the underlined part. If one of them (a), (b) or (c) s better than
the underlingd part, indicate your response on the Answer Sheet against the comresponding
letter (a), (b) or (). If none of the substitutions improves the sentence, indicate (d) as your
response on the Answer Sheet. Thus a ‘Na improvement” response will be significd by the

Tetter (d).

21. 1 disliked him not so much for his meanness but for his dishonesty.

(a) as for
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140. Match List I with List 11 and select the 143. A positive charge +g is placed at the
correct answer using the code given below cenire of a hollow metallic sphere of inner
the Lists : radius @ and outer radius b. The electric

field at a distance r from the centre is

b LGhIL denoted by £. In this regard, which onc of
(Alleral i) the following statements is correst ?
deposit)

A, Gypsum 1. Odisha WL Re 0 B s seh
P W G S s
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C. Fluorspar 3. Arunachal Pradesh (6) E=gldey fora<r<h

D, Nickel 4 Rajasthan @ E=ghma Brr<a
Code :
144, Consider the following Indian States :
A B C oD
1. Bihar
@1 3 oz 4
2. Raj;
B A Jjasthan
© 4 3 2 1 3. Jammu and Kashmir
o T T 4. Haryana
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141, Which one of the following pairs of
Tribe and State is NOT comestly
maiched ?

(a) Thani | Madhya Pradesh
(b) Adi i Ammachal Pradesh
(c) Trula Kerala

(@) Shaharin :  Rajasthan

142. If the absolute refractive indices of glass

Which one of the following is the comect
ascending order of the sbove Stafes
on the basis of percentage of State’s
population to total population of India
(based on ceasus 2011) 7

(a) 3-4-1-2
®) 4-2-1-3
(€ 3-4-2-1
@ 2-3-4-1
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and water are 3/2 and 4/3 respectively,
what will be the ratio of velocity of light in
lass and water ?

@ 3:4
) 4:3
© 8:7
@ 8:9

41

145. Who among the following was the author
of the Badshah Nama ?

(a) Abdul Hamid Lahori
() Abul Fazl

(<) Shah Jahan

(d) Sadullah Khan
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(b) but because
(¢) but due to

(d) No improvement

22, He preferred death rather than imprisonment
(a) for
® o
(c) than
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146. Which one of the following statements
about Fatehpur Sikri is NOT correct ?

() Tt was located on the dirsct road to
Ajmer

(b) Akbar commissioned the building
of a marble tomb for Sheikh Salim
Chisti next to the Friday mosque
at Fatehpur Sikn

. Amange the following countries in
ascending order on the basis of the total
medals eamed by them in Rio Olympic
2016+

1. United States

2. China
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(¢) The awhed gateway or Bulund
Darwaza was meant to remind
visitors of the Mughal victory in
Gujaral

(4) In 1583, the capital of the Mughal
emperor shifted from Fatchpur Sikri
to Delhi

147. Which one of the following efties hosted
the 3rd World Trauma Congress recently 7

Fat Neaw Thalbi

3. Great Britain
4. Russia

Select the el answer using the
code given below :

(@) 1,2,3,4
® 1,3,2,4

(& 43,21
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148. Which one of the following is NOT

one of the objectives of Act East Policy 7 () Eatablich an imegraisd ‘ecocsystem

which will Tead 10 significant growth

(8) To promote coonomic cooperation, ofcivil sviation sector
culwral fies and develop stategic
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ot kel

To promote peace and amity with the
neighbouring countries of Asia

To place emphasis on India-
ASEAN cooperation in India’s
domestic agenda

To provide enhanced connectivity
1o the North East of India

43

()

(d)

repional growih

Ensure safeay, security and sustaina-
bility of all sectors through the use
oftechnology
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23, They kept the idea secretly.

(@) secretive

(b) secret
(e) secretively

(d) No improvement
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : GRS-U-EDF Test Booklet Series

TEST BOOKLET
GENERAL ABILITY TEST A
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24, He ought not to tell me your secret, but he did.
(a) telling
() have told
{c) having told
(d) No improvement

25, If' 1 don't know the meaning of a word, [ look it after in the dictionary.
(a) look it out
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Time Alowed : Two Hours and Thiry Minutes Maximum Marks : 600

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNFRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE 1EST
BOOKLET

2. Please note that it is the candidate’s respousibility 10 eacode and Gll in tie Roll Number and
Test Booklet Series Coe A, B, C or D carefully and without any omission or discrepancy at
{he appropriate places in the OMR Amswer Sheel. Any omissiou diserepaney will render the
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided slongside DO NOT
write wasdhing dise ot the Tast Bodklet.
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This Test Hooklet eontains |50 items (questions) in two parts : PART — A and PART — B. Each
item in PART — B is printed both in Hindi and English. Each item comprises four responses
(answers), You will select the resporse which yon want o mark on the Answer Sheet. In sase you
flel that there is more (han one correst response, mark the response which you cousider the best.
Tn any case, choose ONLY ONE response for each item.

You ave o mark all your responses ONLY on the separate Answer Shoet provided. See directions
in e Auswer Sheet,

Al iteras canry equal marks.

Befure you proseed (o mark in the Answer Sheet the respanse 10 virious items in the Test Booklet,
you have 1o fill in some particulars in the Answer Sheet as per instructions sent 10 you With your
‘Admission Certificate.

ARer you have completed filling in il your responses on the Answer Sheet and the examination fias
concluded, you should hand over to the Tovigilator omly the Answer Skeet. You are permutecd 10 take
away with you the Test Booklet,

g A e s Y T W R LR e S
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Penalty for wrong Answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBIECTIVE TYPE QUESTION PAPERS,

(i) There are four altematives for the answer to every question, For each question for which
2 wrong aswer has been given by the eandidate, one-third of the marks assigned to that
question will be deducted a penalty.

(i) 1f a candidate gives more than one answer, if will be treatcd as @ wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question,

i) 1£a question is lef blank, f.e., no answer 15 given by the candidate, there wall be no penalty
for that question

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD T0 DO 56
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At S
{c) look it up
(&) No improvement

26. Mr. and Mrs. Rao stay in their home cvery cvening.
(a) at home
(b) inside home
() within their home
(d) No improvement

27. When we saw him last, he an to caich a bus.
(2) has ron
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(a) a spectacle




image257.png
) 1323

(d) 1332 fe) 2m+ny
id) =(m+n)
8. #0 0.340.33+0-333+... % nwdl @ dm
v auaR 7
11, i wen - A2 i 5 g AiE
1-(1-)?
&, wom.

fa 1,0




image258.png
o él"'%[l'TolT]] m 11

e 2,0
1 1 1
@ a{n-a(hm]] W@ 21
12, 3R v REdm ) WG T A
9. a1, o o v (GFR) T E D ol N Apfan

1+ o)1+ @)1+ o)1+ 0+ w?) L




image259.png
e v §7 (a) 3 T Tt &

fa) -2
(b} e A @ e
m -1
b fo) 3 e wEa
i 2 () 8 A 0w

GRS-S-FDE/TOA 4




image260.png




image261.png
~digil numbers are formed from the
digits 1,2 and 3 in such a way that the
digits are not repeated. What is e sum
of such three-digit numbers?

) 1233

b 1322

10. If the sum of i terms of an AP is n and
the sum of # term is m, then the sum of
(m+ nl terms i
fai mn

W men




image262.png
fe) 1323

fd) 1332

8. What is the sum of the serics

0-3+0-33+0:333 +...n terms?

1
fa} 5[

& T

1
n-3{1-

AP

=L
107

)

\1

@ 2(m+n)

@ =fm+n)

11. The modulus and principal argument of
the complex number

+20
-i)?

are respectively




image263.png
"ol 107 o 1,8

w11
6 2,0

@ 2,1

12. If the graph of a quadratic polynomial lies
9. If 1, m w? are the cube roots of unity, entirely above x-axis, then which one of

then (L+ @)l +@®)1+c®)(l+ 0+ wd) is the following is correct?




image264.png
equal to
@ -2
M -1
@ o

@ 2

GRS-S-FDE/TOA

]
L

fe)

Both the roots are real

One root is real and the other is
complex

Both the roots are complex

Cannot say

[PT.0.




image265.png




image266.png
13. R |z0q |23 8, @ 2+ 1| F Hiww = 16. whwE x4 s bre=0 (¥ b W e W
= R #) % e A I S A

wwd, @ L b, © e Bl 8§
(@ 0 F

[ fa) AP




image24.png
(b) two spectacles.
(¢) a pair of spectacles
(@) No improvement

. 1 would Tike to avail a fifieen days® holiday this summer.
(@) to avail of
(b) to avail myself of
(€) 1o avail myself
() No improvement

5 A - GRS-U-EDF




image267.png
fe) 6

fd) 10

14, R 2% =22 % Heh A dwn e 87
(@ 2
m 3

fe) 4

- ar
e} HP
PE e

17. T ax? + x+c=0 (I a I e TEW
) % a5 G T g A
Y, M a, ca?, o2 e Aok A BT

tal AP




image268.png
) =

16. A W x? +bxsc=0, T8 b2 0, &
5 cote @ cotp ¥ A cotfe+p) FeE
e §7

e-1

fa) =5~

) GP
fe) P

() I R A

18. [C(7, 01+ CI7, W] + [C(7, )+ C(7, 2]
4. +[CI7, 8+ €T, TN

e T Y




image269.png
@ 2

1-c

GRS-S-FDE/70A

fa)

)
@
@

254

255

256

257





image270.png




image271.png
13. Ifjz+4]< 3, then the maximum value of
|z +1]is

@) ©

) 4

16, The sum of the roots of the cquation
x2+bx+e=0 (where b and ¢ are
non-zero) is equal to the sum of the
reciprocals of their squares. Then





image272.png
Lo

1d

14. The number of roots of the equation
z? =2z s

faj

o)

o

10

&

3

m op
fe) HP

(d) Neme of the above

17. The sum of the roots of the equation
ax?ixic=0 (where a and ¢ are
non-zero) is equal to the sum of the
reciprocals of their squares. Then
a, ca?, c? are in




image273.png
L
(@ zero
18, 1f cote and cotf are the roots of the

cquation x? + bx+c= 0 with b # 0, then
the value of cot fo +f) is

fa) AP
{b) GP
e} HP

fd) None of the above

18. The value of

[C{7, 0)+ C(%, W] + [C(7, )+ C(7, 2]
+on +[CLT, 8+ C(7, 7))




image274.png
GRS-S-FDE/70A

fa)
)
fc)
@

254

255

256

257

[PTO.




image275.png




image276.png
19, ¥ 'EQUATION' % <ol & 31 31 W4 18 22, i
e & fafm el § den W dn

1,383,715,
o s A ¥ 0 S A R 274 8 16
& w76 A T R
fa 5200
fa) 2" -n-1

5 Y ey 138 SR




image25.png




image277.png
Lo e
fc) 3000

@ 2160

20, n @ R T wER AN (AP), B A
n? 20 ¥, 1 el vz frws o b

faj 5

L
el
)

2" an-1

2" -1

23. Wil A B % ey § Frafafn w fEn

wHifiry

1. (A-BluB=A

2. (A-BjuA=a

3. (A-BjnB=¢

4. AcB=AUB=B




image278.png
T @ P 8

7

@) 1,233
) 8

) 2,334
@ 15 @ 1,334

() 1,234

21, B-sida wh fm v fewk TR -3
1. B il fram Fwnsi 24, wF -t
¥ (1p101); +(10g1); = (1007 00);




image279.png
€ p, qF rIE-ANE] HEE, W op, gHAR T

fa 2475 5
& dwift a g Rk o 87
) 2530 (@ 01,0
fe) 4905 ol s
fe) 0,01
d) 5049 1,01

GRS-S-FDE/7TOA 8




image280.png




image281.png
19, The number of different words (cight-
Tetter words] ending and beginning
a consonant which can be made out of
the Ietters of the word ‘EQUATION' is

22, The sum of the first n lerms of the sercs

is equal ta

fa) 5200 fa) 2" -n-1

Y PP ) 1-27"




image282.png
g, S——

e 27" +n-1
fe) 3000 @ 2n -1
(d) 2160 23. Consider the following in respect of sots
Aand B:
L. (A-BjuB=4

20. The fifth term of an AP of n terms,
whose sum is n? -2n, is

2 (A-Blud=a

3 (A-BInB=¢

4. ACB=AUB=B

s

fa} Wity o the silbiove ame: omen:




image283.png
m 7 j@) 1,2and3

() 2,3and 4

) &
© 1,3and4
(@ 15 (@) 1,2 and 4
24. In the binary equation
21. The sum of all the two-digit odd numbers (1p101), +(10g1), = (100700,

is
where p, g and r are binary digits, what

are the possible values of p, g and r





image284.png
|

) 2530

e 4905

fdj 5049

GRS-S-FDE/TOA

respectively?

fa)
[
il
id)

01,0
LL0
0,0, 1

101

[PT.O.




image285.png




image286.png
25. AR S~ xix? 1 1=0, x AFARE B, A 5 28. W% BT W W b o A T

T = 7 s b, i det (570 AB) T WA FE aum
L

fal -1}

i fa) det(8)
(b det ()

e}

fe) det(BY}




image26.png
SPOTTING ERRORS

Dircctions for the following 5 (five) items :

Each ilem in this section has & senlence with three underlined parts labelled {a), (by
and (¢). Read each sentence 10 find out whether there is any ervor in any underlned part
and indicate your response in the Answer Sheet against the corresponding letter 1.6, (a) or
(b} or (¢). If you find no error, your response should be indicated as (d).
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Passage - 1

‘We had just passed Tenali, where [ roused myself in order to hear the name of the station.
As T was falling aslecp again, 2 violent jolt shot me into the arms of somebody in the seat
opposite. The engine with one wheel broken was lying across the track and beside it was the
luggage van, likewise, derailed. Groaning, wheezing, gasping, sputtering in its death agony,
the engine was like a fallen horse which, snorting, trembling in every limb, its flanks heaving,
its chest labouring, seems incapable of making the smallest effort to struggle on 10 its legs
again.
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() the driver had stopped it upright
(b) one of the wheels was broken (d) it had a broken Wheel

Passage - 2

1 was begmning to tire 2 Jittle now. 1 had been culting steps contimuously for rwo hours, and
Tenzing, (oo, was moving very slowly. As 1 chipped steps around still another coroer, 1 wondered
cathes dlly just how lang we could keep it up. Our ongoal et had now quite gone and it was
tummg more inlo a gnm struggle, | then realised thay the rdge ahead, snstead of stll
‘monolonously rising, now dropped sharply away, and fir below 1 could see the North Col and
Rongbuk glacier. [ looked upwands 16 se¢ 4 narow fidge runniig ip 100 snowy summit. A few
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39. Which of the following is the most

appropriate description of the area in
which the narrator had been moving ?

(@) A steep rocky slope
(b) A peak with a flight of steps
(c) A highi peak covered with snow

(d) A long ridge

() the slowness was caused by the fact
that as soon as he cut the steps they
were again covered with snow

(d) he had to work suspended from a
ledge

41. It was tuming more into a grim

struggle’ would mean

(a) that afier the long exertion he was
fecling so weak that any further
climbing meant a hard struggle with
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40. ‘'l had been cutting steps continuously
for two hours' suggests that

(a) the climber was unskilled in the art
of making steps

(b) he had to cut the steps out of snow
before climbing up which was
necessarily a slow process

(e

(d)

the forces of mature
that Tenzing was making the task
more difficult

that strong cold wind was pushing
him down from above and that he
had to struggle with the farces of
mature

that he was in a mood to give up
ultimately
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ORDERING OF WORDS IN A SENTENCE
Directians for the following 9 (nine) items :

Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and . Given below each sentence are four
sequences namely (a), (b). (c) and (d). You are required to re-amange the jumbled parts of
the sentence and mark your response accordingly.

4, Farm workers spend  outdoors most of their time
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103, A commitice of two persons is constituted 106. For two dependent events A and &, it Is

from 1o men and two wamen, What is given that F(A)=0-2 and P{B) - 0.5, If
the: prabability that the committee: will AC B, then the values of conditional
hve omly women? prababilities {A|B) and F(3lA) are
s PeRpectively
{a) 2 3
8 22
: LS
B = P
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1
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2 w12
@2 (d) Information is insufficient

107. A point is chosen at random inside a

104. A question is given to three students 4, bites et - th, Bodbabliy ek B

Band Cwhose chances of solving it are

ot ; point is closer 1o the centre of the circle
3 3 #nd 3 respectively. What is the than te its boundary?
probability that the question will be
@ 3
solved? 5




image330.png
% 2 T

1 o L

) = 3

1

@2 g
@ ';‘% 108. If two regression lines between height (x)

and weight (y) are 4y - 15% + 410 = Dand
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105. The mean weight of 150 students in a the correlation coefficient between
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46, Sportscars appeal 1o some motorists only - with noisy exhausts
P Q R s
The proper sequence should be
@) RQSP
) PSQR
(c) RSPQ
@ PQSR
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108, ln mn examination, A0% of candidates
ot second closs. When the data are
represented by a pie chart, whal is the
angle carresponding 1o second class?
faj &0 o) oF

e 1

i[) 320

112, If the data wre modemately nou-
symmetrical, then which one of the
following  empirical  relationships  is
correct?

{a) 2 w Standard deviation
= 5 x Mean deviation

bl S = Siandard deviation




image333.png
110. Consider the following statements :
Statement 1

Range is mot a good measure of
dispersion.

Statement 2

Range is highly affected by the
existence of extreme values.

Which one of the following is correct in
respect of the above statements?

PO S L PRSP i | PEITL §

= 2 % Mean deviation

fe) 4 Standard deviation
=5 x Mean deviation

fd) 5 x Standard deviation
= 4 x Mean deviation

113. Data can be represented in which of the
following forms?

1. Textual form
2. Tabular form
3. Graphical form
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b

fe)

i

are correct and Statement 2 is the
correct explanation of Statement 1

Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation of
Statement 1

Statement 1 is cormect but
Statement 2 is not correct

Statement 2 is correet but
Statement 1 is not correct

Select the correct answer using the code
given below.

(@) 1and 2 only

b} 2 and 3 only

() 1and 3 only

@ 1,2and 3

114. For given stal | data, the graphs for
less than ogive and more than ogive are
drawn, If the point at which the two
curves intersect is P, then abscissa of
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111. A card is drawn from a well-shuffled
ordinary deck of 52 cards. What is the
probability that it is an ace?

1 2
5 Lt

3 1
€ 35 @ o

GRS-S-FDE/TOA 41

point P gives the value of which one
of the following measures of central
tendency?

f@) Median
(6) Mean
e Mode

{d} Geometric mean
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1 L e
P Q R
The proper sequence should be
(@ RSPQ
() PRQS
() SQRP
@ QPSR

45, Shehas more intelligence  than we suspested her to possess
P Q R s
The proper sequence should be
@ PQSR





image338.png
od w3 8 o/ w787 @ 3

@ ¥ 3

) ¥z i

CIRE #%.1

@ AR, TR 119. %W i 5 4 iR B 2 TReriE wwERi

e b, w6 Pl - L s pE - g Y
116. A x F y W AW y F x W FARY PHE P(A A B)w T A
L P L
T @ 1




image339.png
SR T e

117. 5 favil % wh shed w1 w32 w Wi
33 ¥1 =z 3 7 wrn T o e e @
35 % TR T 40 T w1 forw T W AR e
= & di W@ §, @ P § @ PR

)

2|

1
“@ 3

5
@ 5

120, firht fave avzr w0 T ol AEE Rreem wan
12 3 2 41 sfer (gheel) A Fen




image340.png
(@) s v R

) o b, e T A
W

fe) wTen i e 26 w0 6 A §

(@) v adl wa R, g Wit A @
s

GRS-S-FDE/70A

R
i@ 2
) 12
18
(d 24




image341.png




image342.png
115. Consider the following statements.

i

Two events are mutually exclusive
if the occurrence of one event
prevents the occurrence of the
other,

‘The probability of the union of two
mutually exclusive events is the

118, 1f two fa are thrown, then what is
the probability that the sum is neither 8
nor 97
1
(L

w1
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B on e S . o s oy r
probabilitics.

Which of the above statements is/are el
correct?

sl

i@ 1 only
(6] 2 only
() Both 1 and 2 )
i R ot 119. Lot A and Bare two mutually exchusive
events with PIA) = S and P(B) = 7. What

is the value of PIA B

@

@la

116, If the regression cocfficient of x on y
and yon x are -;‘ and —% respectively,

e S14 S o
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117. A sample of 5 observations has mean 32 ¥
and median 33, Later it is found that an w

observation was recorded incorrectly as
40 instead of 35. If we correct the data,
then which one of the following is 120. The mean and standard deviation of a
correct? binomial distribution are 12 and 2
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fa) The mean and median remain the b cogamier AR o i o

i trials?
(b} The median remains the same but @ 2
the mean will decrease
fe) The mean and median both will ® 12
decrease W 18

(d) The mean remains the same but
median will decrease (@ 24
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49.

() PROQS
(€) PSQR
@ PQRS

They should implant  in the minds of yeung children  sound principles
P Q R B

The proper sequence should be

(a) PQRS

(b) PQSR

<) RPQS

@ PRQS
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When I was a student 1 leamnt swimming at theage of 15 of class X
- P Q R
government school
s
The proper sequence should be
(@) PORS
(b) PRQS
) QPRS
@ QSPR

50.

L} A — GRS-U-EDF
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Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, ¥OU SHOULD CHECK
THAT TIHIS TEST HOOKLET DOES NOT HAVE ANY UNFRINTED OR TORN OR MISSING PAGES
OR TTEMS, ETC. IF S0, GET IT REPLACED BY A COMPLETE TEST DODKLET

2. Pleaso note that it is the candidate's responsibility to encode and fill in the Roll Number
sand Test Booklet Series A, B, C ot D carcfully and without any amission or discrepuncy at
e appropriate place In the OMR Answer Sheet, Any omission/discrepancy will render
the Answer Sheet liable for rejection.

3. You have 1 enter your Rall Nymber on the Test Booklat in
the Box provided alongside. 20 NOT write angiling efse on
the Test Bookler

liookiet cunuins 130 itema (quéstions]. Lach e i i
ch item compriscs four responses (answers). You will sal

ied both in Hindi and
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mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the scparate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed 1o mark in the Answer Sheet the response to various itema in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has cancluded, you should hand over 1o the Invigilator only the Ansiwer Sheet. You are permittcd
to take away With you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the cnd.

Penalty for wrong answers :

THERE WILL BE PEMALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
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e four sl ves for the answer to every question. For each queshion jor winich »

wrong answer has been given by the candidate, one-third of the marks assigned 1o that
question will be deducted as penalty

) 1 a cand

¢ gives more than are answer, il will be treated as a wrong answes cven if o of
the given answers happens (o be correet and there will be same penalty as above to that
question

(i) 1f a quiestion is TN blank, Le., no answer s given by the candid
for that guestion,

there will bs a0 penalty

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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PART - B

51, Which one of the fallowing devices
changes low voltage aliemating current (o
high voliage altemating current and vice
versa 7

(1) Generator

Which of the following is/are comect ?

The car travels

I, with a uniform acceleration of
2 mist,

2 16minds.
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o 3. with an average speed of 4 m/s.

(¢) Transformer Select the correst answer using the code
given below :

(@) Vibrator
(@) 1,2and3

52. An optical ilfusion which ocours mainly in (b) 2and3only

deserts during hot summet i based on the (@) 1.and only

principle of
@) 1only

{a) Reflection

55. The speed of a body that has Mach

(b) Interference: mumber more than 1 is
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3.

(€) Dispersion
{d) Total internal reflection

At which place Earth’s magnetic field
becomes horizontal ?

{a) Magnetic meridian
(b) Magnetic equator
{c) Geographical polc

(a) supersonic
) subsonic
(€) 300mis
(d) about 10 m/s
56. Molecules of which of the following has
cage like structure ?
1. Diamand
2. Graphite
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(@) Tropic of Cancer

54, The speed of a car travelling on a siraight
road is listed below at successive intervals

of s
Time (s)

Speed (mis)

0

0

1

2

4

3. Fullerenes

Select the correct answer using the code

given below :
(2) 1.2and3
(b) 2and3only
() 2only

(d) Ionly

A — GRS-U-EDF
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57, Temporary hardness in water is due to
which one of the following of Caleium
and Magnesium 7
() Hydrogencarbonatcs
(b) Carbonates

() Chiorides

61, Glassis a

(@)
)
(e)

()]

liquid
colloid
non-crystalline amorphous.solid

arystalline solid
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(d) Sulphates
62. Cell wall of any fungus s different from

58. Stung by hairs of neule Teaves causes Plants in having

burning pain. This is due o the injection of 6 oeices

(a) Aceticacid

{b) chitin
(b) Methanoic acid

{c) cholesterol
(¢} Sulphusic acid

@) glycogen

(@) Hydrochlone acid
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59. Which one of the following clements is

least reactive with water ?
(@) Lithium

(6 Sodium

() Potassium

(@ Cesium

60. Rutherford’s alpha-particle

scattering

63. Sleeping sickness is a parasitic disease of

Inumans and other animals. It is caused by
() Hisiomonas

(b) Trypanosoma

(c) Angomonae

(d) Naegleria

64. Which one of the following agenci
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experiment was responsible for the
discovery of

(@) Electron
() Protan
(€) Nucleus

(d) Helium

13

entorces the laws on lood secunty in
India ?

(a) FDA
(b) WHO
() FSSAI
@) FAO

A - GRS-U-EDF
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65. Dengue virus causes high fever, rashes 68. According 1 the Census 2011, the density

and reduces the number of a particular of population in which one among the
type of blood cells. Those blood cells arc following States is the lowest 7
(a) Sikkim
(3) Momocytes
(b) Nagaland
() Plateless

(c) Manipur
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(<) Eosinophils

(d) Neutrophils

66. Kidney secretes an  enzyme,
changes plasma protein angiote
into angiotensin. The enzyme is

(a) Renin

(d) Mizoram

Headquarters of the World Meteorological
Organizztion is Tocated in

() Washington

®) Geneva

(€) Moscow

(d) London
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(b) Nitrogenase Fore Choseeweg PSRV g TS Sy AW UG TE Y
correct answer using (he code given below
the Lists *
(€) Hydmiase
List1 List 11
() Mono-oxygenase (Inelustry) {Place)
A, Petrochemical 1. Coimbatore
67. Red blood cells (RBCs) have B. Aircraft 2. Pinjore
€ Machine tools 3. Bengalum

(3) no mucleus, no mitochondaia and
10 endoplasmic reticulum D). Cotton textiles 4, Bongaigaon
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Code :
() nucleus, mitochondria and endo-
plasmic reticulum A B C D

(@) 4 3 2 1
(c) nucleus, mitochondria but ne endo-
plasmic reticulum ® 4 2 3 1

() R - L
(d) no mitochondria but endoplasmic
reticalum is present 1 A

15 A -~ GRS-U-EDF
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71. Consider the following statements per- 74. Which of the following cricket teams was
wining to Coffee plantation in Tndia : defeated by India to fifl the Women's

T C ”
1. Need warm and moist climate with 5 iyl e 201,

spell of dry weather during the (a) Bangladesh
ripening period

() Sri Lanka
2. Rolling fields having good drainage

r i () Pakistan
3. Stromg_sunshine over hilly slopes

sveeadine temapnerature 35°C ) Afchanistan
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4. Kamnataka is the leading producer in
India

Which of the statements given above are
comret 1

(@) 1and4only
(b) 1,2and3
(e) 3and4

) 1, 2and 4

75. Which one of the following was the

venue of 2nd BRICS Youth Summit
of the Minisicrs, Officials and Youth
Delegations ?

(a) New Delhi
(b) Mumbai
(c) Shillong
@ Guwahati
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72. Dr. Urjit Patel, who has been appomied

recently as Governor of Reserve Bank of
India, was holding which position
immediaiely prior to this appointment 7

(a) Chief Economist, TMF

(b} Deputy Governor, Reserve Bank of
India

() Chicf Economic Advisor to lhe
Government of Indw

() Professor of Economics al Harvard
Usiiversity

76,

Which one among the following States of
India has recently proposed to frame th
first Intemal Security Act o deal with the
chillenges of terrorism,  insurgency,
communalism and caste violeace 2

(a) Maharashira
(&) Gujarat

(e} Uttar Pradesh
(d) Chhattisgarh
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77. The World Humanitarian Day is being

73, Who among the following personalites is
& o Ao observed every year on which date ?

NOT & Govemor of any Indian State ?

() Najma Heptulla (a) 24 October
() Ram Nath Kovind (b) 19 August
{c) Acharya Dev Vrat (c) 10 December
{d) Arvind Subramaniam (d) &March
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PART - A
SELECTING WORDS

Directians for the following 10 (ten) items :

Each of the following items in this section has a sentence with a blank space and four words
or groups of words given after the sentence. Select whichever word or group of words you
consider most appropriate for the blank space and indicate your response on the Answer
Sheet accontingly.
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